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YCTHbLIN cuYeT




Yemy paBHa nnowaab
NOBEPXHOCTU?
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[lpoBepKa AomallHero 3agaHus

100 Mm =10 cm
184 om =18 m 4 am
1190 cm =11 m 9 am
9006 M =9 KM 6 ™M



Tabnuua eanHNLU U3aMepeHus
nnowann

1em?2=100 mm?2 1 am?=10 000 mm?
1 am? =100 cm? 1 M*=10 000 cm?

1 M2 =100 gm? 1a=10 000 gm?
1a=100 m? 1ra=10 000 m?
1ra=100a 1 km?*=10 000 a

1 kM?=100ra 1 km? =1 000 000 m?






OU3KYIIBTMUHYTKA.

A Tenepb pebsita BcTanu!
BLICTPO pYKU BBEepX MOOHAMNM,
B cTOpOHbLI, Bnepen, Ha3aa,
lNoBepHynNuchL BnpaBo, BreBo,
Tuxo cenu — BHOBL 3a Aerno.




Paboma ¢ y4yeb6HUKOM

Ne 181 (1
cmosibuK)
cpasHeHue

eesIu4UH



OueHu csoro
pa60my Ha ypokKe
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llomawHee 3a0aHue

Ctp. 41 Ne 181 (2
CTONOUK).

Cnacu0o 3a padory!
Aes1a10 YCIexXoB!



